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Experiment 6: Determination of Hydrochloric Acid (HCI) Concentration by Titrations with a
Standard Solution of Sodium Carbonate (Na2COs)

1. Volume of HCI
What do you
HC need to know? 2. Equation of reaction

_— _ o
unknown 3. Indicator and the rang of it in pH
V'= Average

4. The color of indicator before and
after the equivalent point

5. Number of moles
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HCI + Na,CO; - Na\tc\o3 + NaCl ....ooooooeiiiiiiiiie, pH=83 ........... ph.ph
HCl + Wcog - NaCl + CO, + H,0

2HCI + Na,COs — 2NaCl + CO2 + HO .......c.ceeennen. pH=38........... M.O
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First: Volume of HCI by using M.O as an indicator:

Exp. | Initial reading | Final reading Volume ml | Average
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Second: Volume of HCI by using ph.ph as an indicator:

Exp. | Initial reading | Final reading Volume ml | Average
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